EARAROBREBRT —5 XN—ZXBISH—F

20226185268 (K) 10mF#28

Nl ittt 1 EPHTESEE C10 13 BSFH— B
[AXE%€] 17%&:270,00 3 ~ 2%&:81,00H  3&:41,000H  437%:27,000 " . 53%&:14,000 M
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
—_ < K& : -1-1- - FHLLTLE (B
16| PRV AKY 5 4 &= 1.(3_1).2 1-1-1-1 | 39.3 1 (4_535) g#i;? N
RIZADI TP A—T7—R—F 8Py UL SRS
X @ FEIBRER 2 -2-2- - JIISBLATS (F5#)
28] s | A—Lnvv kD s | BR N N I RN T e
RixAIZI7—R B:I—R/NT— A NA RS
—~ o9 | HEGE 1:33.6 5-6-6-3 | 40.3| — 4 | 460 | FRLLZEEE (S5
kY 4 YRI5 AF— %53.0 (1/72) 1) ?#ﬂ%?
RiIv IRy b B:P<vZU7UIIL RIS
=42 45 | N0EEES— 1:34.1 4-4-3-4 | 41.0| - 5 465 | HEEFHET ()
4177 |RF/8F304RX 56.0 21/2) © |
R:TUA—=Y B:Iv—AAY [=F =773
— = o EILLI : -5-4- - KIEHK (FEH)
515|5| FILRIXSILE 58S 7S IR R LS e
R:Z2MOVFUI—r B:FILRIUT TJ7=—EILT7—LA
S 3 4 | BEHZ 1:35.8 8-8-7-7 |M.7| — 6 451 | BHIES (%)
EH 3| XA¥3DILY * A52.0 @ () | 0 5Py
RiFVh—T7 #:N\EaS =[0k:tie]
= JOEEFE . 35— _ BEES (&
71111 74vo2954 w5 | JOE Gey | T |2 S Reear
R:ZAEILN=T §:5E—9YvUF TPk
= _ 11| BAE 1:36.5 7-7-8-8 | 42.4| - 7 447 | EREIER (8540)
EH 2| FTLSNY 57.0 ) 3 | (@ JPNEH
R:DAIRSyYa B:FLSIT+—h [aarte ]
@ 11— —BBIEfI
10—+— 6,8,1,7,4,5,2,3
20—F— 6,8,1,7,5,4,2,3
Sal=zr= 6.8,7,5,1,4,3,2
43—F— 6,8,4,7,5,1,3,2
o ILRE
B B 6 1504 JA R 6-8 160MH B E 6-8 310H 3EE 4-6-8 630/
7B B 6 110/ 4-6 210 =51 6-8 370 3EH 6-8-4 1,400/
8 160M4 4-8 440
4 1604

ABIC OV TRUTEREERRODDZE. THRIIZEL.




